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B 2014.04.01 ~ % 2015.03.31

(IR A DER) (BHr: M)

18 B SEEFE HIFEETE| LEIBER i =
1 ASEIRA 40,000 40,000 0
-1 ES8 30,000 30,000 0| @3,000 x 10 A
122448 10,000 10,000 0| @2,000 % 5 A
1-3; EARE 0 0 0|18 B 7#i& (@100,000)
1-4 BBhE8 0 0 0|18 B 7F& (@3,000)
2 £EBIRA 585,000 585,000 0
-1 EF£8 540,000 540,000 0| @6,000 x 90 A
2-2 428 45,000 45,000 0| @3,000x 15 A
2-3 i EANEE 0 0 0|18 B %#i& (@100,000)
2-4 =8 0 0 0|18 B 7F& (@30,000)
3 SmEIIRA 50,000 50,000 0
3-1 SEIA 50,000 50,000 0|FF£%@2,000 X 25 A
4 FHULA 5,000 5,000 0
4-1 #IARA 5,000 5,000 O|FELHIFE
5 {2 e 3,983,000/ 4,039,000] A 56,000|20134F R E R ALE
5-1 EARBEZHELSINA| 1,233,000[ 1,239,000 A 6,000
5-2 BT ERHESIRA 2,750,000/ 2,800,000 A 50,000

a5t 4,663,000 4,719,000 A 56,000

(ZHEDERY

18 B SEEFE HFEEFTE| LEIER i =
1 EXE 1,550,000 1,470,000 80,000
1-1 BELEEE 200,000 250,000 A 50,000|3[E5 (X3IN)REE EHE
12 ARK=MRE 350,000 350,000 0| BRMER B R
1-3EESR 50,000 100,000 A 50,000|FAZC By A B 2% B I 1L \HEE
1-4 SR ERAT 500,000 300,000 200,000|;@EE25 5
1-5 ZEXFHEE 70,000 70,000 0|4l - EHENRIZE
1-6 LEREESNE 80,000 100,000 A 20,000{HP A>T @6000F x 128
-7 AR E 300,000 300,000 0| 1410A M X 3HERAD
2 EHBE 170,000 190,000 A 20,000
-1 HaE-ERE 10,000 20,000 A 10,000|E#ERALKZE
2-2 ENfIlE 60,000 50,000 10,000| Z=EN - HEIERK
2-3 RIEE 90,000 110,000| A 20,000{=1—-A'LA—fhEREE . kA&
2-A EBEUEE 10,000 10,000 0|4 /NA R
3 fEHe 1,273,000 1,279,000 A 6,000
-1 AR ERHE 1,273,000 1,279,000 A BOOASERUASEEBITY
32 REERZBSE 0 0 O|GREMERE)
4 FiRE 1,670,000 1,780,000 A 110,000

a5t 4,663,000 4,719,000 A 56,000






